4

THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION

20

(C) COPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

REVISTONS
P TR DESCRIPTION DATE DWN | APVD
A INITIAL RELEASE 15APR2015 | GY  |CW
B ECR-15-013759 28SEP2015 | DW |[CW
R1 ECR-16-011988 27AUG2016 | YO |[CW
R7 ECR-16-017834 21DEC2016 | YO |CW
NOTES:

. TECHNICAL CHARACTERISTICS:

INSULATION MATERIAL: PC
16X M3 SCREW,RECOMMENDED RATED VOLTAGE: 500V
TYPE 1, 12040162201-000, TE LOGO TIGHTENING TORQUE 0.5Nm RATED CURRENT: 16A
28 |, T2040162201-000,TE LOGO 16X M3#% ##4E41%50  5Nm INSULATION RESISTANCE: >-400MQ)
RATED IMPULSE VOLTAGE: 6KV
POLLUTION DEGREE: 3
FLAMMABIL ITY: UL94V-0
MATING CYCLES: 500 CYCLES
WIRE RANGE: 0.5mm2~2.5mm2 (AWG20-AWG|4)
@ == CONTACT TYPE: SCREW CLAMP (M3)
o
™ T
| HASH
pgma . PC
4% M3 SCREW, RECOMMENDED TIGHTENING TORQUE 0.5Nm wEwE: 500V
4X M3B#z #FHEAHE0 . DNm Hrem: | 6A
wgwE - >=400M0)
M4 SCREW, RECOMMENDED TIGHTENING TORQUE I|.2Nm gzzif gKV
MAgs g5 . 2Nm mssn . Ul o4y-0
| BHA%: 500 %
5 68. 5 - @L 23456728 @ﬁ? 58 0. 5mm2-2. 5mm2 (ANG20-AWG | 4)
0 | 0 BUAK . BuggE (M3)
FaIn Fan e C 7 A\ N - ] L o~
P » P s eeeeemt T -
— ‘ - = NANE AN AN N AN N AN 1
ﬁi - ~ o éiE:ﬁ%ILin 10 11 12713 14 15 18 eﬁgﬂ
| | |
¢ | Q L 17.5 4
AN
} N
77.5
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN I5APRZ20TH
PANEL CUT FOR INSERTS FOR USE _GINO YAOWSAPREOWS _—TE TE Comnectivity
WITHOUT HOODS/ HOUSINGS CHRIS WANG -
DIMENSIONS: TOLERANCES UNLESS
MM R 3P 50 B K4 o S R FL A OTHERWISE SPECIFIED: APVD 15APR2015 [Name
mm XTANG XU HE-016-F
0 PLC +- PRODUCT SPEC
@E}{::::}; o1 108-137044
3 PLC +- APPLICATION SPEC
iNgtég +- . 1} 4771 3470 414 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
WATERTAL FINISH ] WEIGHT - A300779@ET2040162201000 _

CUSTOMER DRAWING

SCALE

SHEET 1 OF

101

REVB 2

1470-19 (3/13)




4 ‘ 3 fd 1

THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION 20

REVISIONS

@ COPYRIGHT 20 BY - ALL RIGHTS RESERVED.

P LTR DESCRIPTION DATE DWN APVD

SEE SHEET 1

NOTE:
ALL SPEC REFER TO TYPE |

V% =
FAFaHEEE TYPE |

TYPE 2,7T2040162201-001,NO LOGO
#2# 2,72040162201-001,%&LOGO

N

|
@ 1.2 3 4 65 6 7_8 @
[ AR )
. S o o o |
IO HOHO Oy
@ 9 10 11 1213 14 15 16 : T2040162201-000 | HE-016-F |HE 0 0 LMALE TROERT TYPE |
|
T2040162201-001 | HE-016-F | e 0 0 LMALE INSERTNOLOGO) rype
PART NUMBER PART DESCRIPTION TYPE
ik 4 £ 8
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN TOAPRZ0TS
CH%INO LAC T5APR20715 - TE TE Connectivity
PIMENSTONS: OTHERWISE SPECIFIED: AP%DHRIS WANWG5APR20W5 NAME
mm - LXTANG XU HE-016-F
0 PLC +- PRODUCT SPEC
@g; o1 108-137044
3 PLC +- APPLICATION SPEC
iNGPLLECS +- . 1 1 47 1 37044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
e e , A 3[00779(C=T2040162201000 -
- - CUSTOMER DRAWING I I e I s

1470-19 (3/13)



X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for IC & Component Sockets category:
Click to view products by TE Connectivity manufacturer:

Other Similar products are found below :

714-43-102-31-012000 0066-3-17-15-30-14-02-0 0134-0-15-15-32-27-04-0 614-DG5 6527-0-00-15-00-00-03-0 670 672 673 712-93-120-
41-001000 714-93-104-31-018000 8059-4G1-LF 807-22-001-10-001101 807-22-001-10-003101 807-22-001-10-004101 807-22-001-10-
006101 807-22-001-30-011101 807-22-001-30-012101 807-22-001-30-013101 807-22-001-30-014101 8-1437531-4 8150-6P10 833-93-034-
10-001000 835-43-014-10-001000 851-41-006-10-001000 851-43-008-20-001000 851-43-014-20-001000 851-93-006-20-001000
851-93-010-20-001000 853-43-020-10-001000 86.010.0053.0 116-43-306-41-003000 116-43-308-41-00/000 116-87-308-41-007/101 PX-
68LCC PX-84LCC 121-13-318-41-001000 121-13-320-41-001000 121-13-308-41-001000 123-43-314-41-801000 123-43-420-41-001000
123-43-636-41-001000 123-87-320-41-001101 122-13-316-41-001000 123-13-624-41-001000 123-43-306-41-001000 123-43-322-41-801000
123-43-428-41-001000 123-43-624-41-001000 12-3513-11 123-91-320-41-001000



https://www.x-on.com.au/category/connectors/ic-component-sockets
https://www.x-on.com.au/manufacturer/teconnectivity
https://www.x-on.com.au/mpn/millmax/7144310231012000
https://www.x-on.com.au/mpn/millmax/0066317153014020
https://www.x-on.com.au/mpn/millmax/0134015153227040
https://www.x-on.com.au/mpn/teconnectivity/614dg5
https://www.x-on.com.au/mpn/millmax/6527000150000030
https://www.x-on.com.au/mpn/keystone/670
https://www.x-on.com.au/mpn/keystone/672
https://www.x-on.com.au/mpn/keystone/673
https://www.x-on.com.au/mpn/millmax/7129312041001000
https://www.x-on.com.au/mpn/millmax/7129312041001000
https://www.x-on.com.au/mpn/millmax/7149310431018000
https://www.x-on.com.au/mpn/teconnectivity/80594g1lf
https://www.x-on.com.au/mpn/millmax/8072200110001101
https://www.x-on.com.au/mpn/millmax/8072200110003101
https://www.x-on.com.au/mpn/millmax/8072200110004101
https://www.x-on.com.au/mpn/millmax/8072200110006101
https://www.x-on.com.au/mpn/millmax/8072200110006101
https://www.x-on.com.au/mpn/millmax/8072200130011101
https://www.x-on.com.au/mpn/millmax/8072200130012101
https://www.x-on.com.au/mpn/millmax/8072200130013101
https://www.x-on.com.au/mpn/millmax/8072200130014101
https://www.x-on.com.au/mpn/teconnectivity/814375314
https://www.x-on.com.au/mpn/teconnectivity/81506p10
https://www.x-on.com.au/mpn/millmax/8339303410001000
https://www.x-on.com.au/mpn/millmax/8339303410001000
https://www.x-on.com.au/mpn/millmax/8354301410001000
https://www.x-on.com.au/mpn/millmax/8514100610001000
https://www.x-on.com.au/mpn/millmax/8514300820001000
https://www.x-on.com.au/mpn/millmax/8514301420001000
https://www.x-on.com.au/mpn/millmax/8519300620001000
https://www.x-on.com.au/mpn/millmax/8519301020001000
https://www.x-on.com.au/mpn/millmax/8534302010001000
https://www.x-on.com.au/mpn/wieland/8601000530
https://www.x-on.com.au/mpn/millmax/1164330641003000
https://www.x-on.com.au/mpn/millmax/1164330841007000
https://www.x-on.com.au/mpn/precidip/1168730841007101
https://www.x-on.com.au/mpn/kycon/px68lcc
https://www.x-on.com.au/mpn/kycon/px68lcc
https://www.x-on.com.au/mpn/kycon/px84lcc
https://www.x-on.com.au/mpn/millmax/1211331841001000
https://www.x-on.com.au/mpn/millmax/1211332041001000
https://www.x-on.com.au/mpn/millmax/1211330841001000
https://www.x-on.com.au/mpn/millmax/1234331441801000
https://www.x-on.com.au/mpn/millmax/1234342041001000
https://www.x-on.com.au/mpn/millmax/1234363641001000
https://www.x-on.com.au/mpn/precidip/1238732041001101
https://www.x-on.com.au/mpn/millmax/1221331641001000
https://www.x-on.com.au/mpn/millmax/1231362441001000
https://www.x-on.com.au/mpn/millmax/1234330641001000
https://www.x-on.com.au/mpn/millmax/1234332241801000
https://www.x-on.com.au/mpn/millmax/1234342841001000
https://www.x-on.com.au/mpn/millmax/1234362441001000
https://www.x-on.com.au/mpn/aries/12351311
https://www.x-on.com.au/mpn/millmax/1239132041001000

